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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes cach
sentence. Then mark the correct choice on your answer sheet.

Dogs and wolves are members of the same ---————-- .

1) species 2) monsters 3) creatures 4) primates
I've been prescribed iron tables to make up the ——-——-—,

1) fault 2) nutrition 3) deficiency 4)) protection
After years of research, scholars have finally --—---—-- this theory to a scholur in ancient
Greece.

1) pondered 2) ascribed 3) depicted 4) disclosed
They —==-c- a 500-year lifespan for a plastic container.

1) alleged 2) survived 3) diverged 4) postulated
Teachers settled for a 4% pay rise with -——--—-- effeet from last April,

1) foregone 2) preceding 3) retrospective 4) substantial
Although she is only 20 years old, she has shown great — to stress.

1) potency 2) maturity 3) attribute 4) resilience
The school governors have absolute —---——--- over which students they admit.

1} discretion 2) attendance 3) pragmatism 4) aggression
Short guestions are more likely to -——-—— a response.

1) elicit 2) undergo 3) perceive 4) register
Many principles are -----—--- in the Declaration of Human Rights.

1) resided 2) embodied 3) proceeded 4) submitted
Scientists used to reason that the Sun went round the Earth, not -,

1) in turn 2) vice versa 3) on the other hand  4) by contrast

PART B: Grammar

Directions: Read the following passage and decide which choice (1), (2), (3), or (4)
best fits each blank. Then mark the correct choice on your answer sheet.

11-
12-
13-
14-
15-

China has been influenced mainly by three systems of religion and meorals: Confucianism,
Taoism, and Buddhism. (11) -—==----- started in China but Buddhism (12) —-----=- from India in the
1* or 2™ century AD. Confucianism was usually regarded as the official religion of China until the
revolution of 1911, The founder of Confucianism was Confucius, who was bom in the 6™ century

BC and lived in (13) -—=-—-- . He taught that human happiness comes from the relationships
between people; (14) -=----==- , the way in which people treat one another. The worship of ancestors-
an old Chinese custom — was warmly recommended by him because (15) --------- the old wuys

unchanged. God was to be honoured, but people could not know much about him and should not try
to find out about supernatural things.

1) Two first 2) First two 3) The two first 4) The first two

1) carried there 2) was carried there 3)carried until there — 4) was carried until there
1) trouble times 2) troubling time 3) troubled times 4) troublesome time

1) that is 2) in case 3) in addition 4) which includes

1) it helped keeping 2) his helping for keeing of

3} it helped to keep 4) he helped keeping
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Directions: Read the following three passages and answer the guestions by choosing the best |
\choice (1), @), (3s.0r (4). Then mark the correct choice.on your answer sheet.__

Passage 1:

Money is a means of final payment for goods in most market economies and the unit of
account in which prices are typically stated. It includes currency held by the nonbank
public and checkable deposits. It has been described as a social convention, like
language, useful to one largely because it is useful to others. As a medium of exchange,
money facilitates trade. Its economic function can be contrasted with barter (non-
monetary exchange). Given a diverse array of produced goods and specialized producers,
barter may entail a hard-to-locate double coincidence of wants as to what is exchanged,
say apples and a book. By comparison, money can reduce the transaction cost of
exchange because of its ready acceptability. Then it is less costly for the seller to accept
money in exchange, rather than what the buyer produces.

At the level of an economy, theory and evidence are consistent with a positive
relationship running from the total money supply to the nominal value of total output and
to the general price level. For this reason, management of the money supply is a key

aspect of monetary policy.

16- What does the passage mainly discuss?

1) General Price Level 2) Produced Goods and Specialized Producers

3) Means of Final Payment 4) Transaction Cost of Exchange
17-  What does the word “currency” in the 2™ line mean?

1) a piece of paper money 2) that which may be offered in payment of debt

3) the money used in a particular country 4) the state of being accepted or used by many people
18- According to the passage, money can he --——-——,

1) defined as a social usage 2} described as a form of trade

3) helpful to one largely because it brings health 4) useful to one largely because it brings wealth
19-  Which statement is true about ‘barter’?
1) It always entails the double coincidence of wants 2) It can decrease the transaction cost of exchange

3) It can reduce the bargain expense of exchange . '4) It may not lead to the concurrence of needs
20-  The aunthor finally concludes that theory and evidence —-—-——- running from the total money supply to
the nominal value of total output and to the general price level.

1) are compatible to the direet relationship 2) are incompatible to the positive correlation
3) contradict the positive relationship 4) negate the direct correlation
Passage 2:

Even a currency has a price, its exchange rate in currency markets. Its determination by
supply and demand 15 an important issue in international trade.

In supply-and-demand analysis, price, the going rate of exchange for a good, coordinates
production and consumption quantities. Price and quantity have been described as the
most directly observable characteristics of a good produced for ﬂ.'lﬂ market. ?.upp]:n
demand, and market equilibrium are theoretical constructs linking price and quantity. But
tracing the effects of factors predicted to change supply and demand n and through them,
pricc and quantity - is a standard exercise in applied microeconomics and
macroeconomics. Economic theory can specify under what circumstances price serves as
an efficient communication device to regulate quantity. A real-world application might
attempt to measure how much variables that increase supply or demand change price and

quantity.
21- What would the possible topic be for the above passage?
1) Applied Macroeconomics 2) Prices and Quantities

3) Supply‘and Demagd EAnCiBt, O g 40 Wi of wlid SRR end Shangsdyice
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22- The author implicitly wants to state that supply and demand -——--—--
1) are determined by the important issues in intemnational trade
2) are specified by the exchange rate of a currency
3) determines the important issues in international level
4) specifies the exchange rate of a currency
13-  According to the passage, price ——————,
1) determines production and consumption qualities 2) harmonizes production and consumption qualities
3) 1s the accepted cost of transaction for a product ~ 4) is the current value of exchange fora given good
24- It is stated in the passage that applied microeconomics and macroeconomics ——-—--,
1) discover the consequences of elements which harm supply and demand
2) discover the consequences of factors which alter supply and demand
3) study the relationships of factors that change price and quantity
4) trace the impacts of elements that fix price and quantity
125- The author concludes that ——-——,
1) a real-world application of economics can determine the extent to which supply and demand affect price
and quantity
2) a real-world application of economics can identify the circumstances in which price serves as a well-
conducted instrument
3} economic theory indicates that price regulates quantity as an efficient communication device
4) economic theory reveals that there are a lot of variables which increase supply and demand

Passage 3:

Elementary demand-and-supply theory predicts equilibrium but not the speed of
adjustment for changes of equilibrium due to a shift in demand or supply. In many
areas, some form of "price stickiness" is postulated to account for quantities, rather than
prices, adjusting in the short run to changes on the demand side or the supply side. This
includes standard analysis of the business cycle in macroeconomics. Analysis often
revolves around causes of such price stickiness and their implications for reaching a
hypothesized long-run equilibrium. Examples of such price stickiness in particular
markets include wage rates in labour markets and posted prices in markets deviating from
perfect competition.

Another area of economics considers whether markets adequately take account of all
social costs and benefits. An externality is said to occur where there are significant social
costs or benefits from production or consumption that are not reflected in market prices.
For example, air pollution may generate a negative externality, and education may
generate a positive externality (less crime, etc.).

26- According to the passage, elementary demand-and-supply --—-—— a change in demand or supply.
1) does not foresee the adjustment for changes of balance resulting from
2) does not foresee the equilibrium due to
3) predicts the adjustment for changes of equilibrium owing to
4) prefers the balance caused by
27- The author explicitly states that .
1) prices adjust to changes on the demand side in the short run
2) prices are postulated to explain qualities in many areas
3) “price stickiness” is assumed to justify quantities in many areas
4) “price stickiness™ adjusts to changes on the supply side in the long run
28- According to the passage, the standard analysis of the business cycle in macroeconomics -—-—----—-—.
1) is based upon the results of price stickiness
2) is based upon the origins of price stickiness
3) revolves around the consequences of prices for achieving equilibrium
4) revolves around the implications of prices for reaching balance
29-  If the author is right, --—-—---- can be an instance of price stickiness.
1) air pollution 2) education
3) posted prices in markets with perfect competition 4) wage rates in labor markets
30- The author eventually concludes that production or consumption.
1} an externality exists where there are significant social advantages and disadvantages in
2) an externality occurs where there are important social costs and benefits of
3) markets do not always take into consideration all the social advantages and disadvantages of

4) markets adequate ’.tak. L &eﬁf_,‘ifjg %fa E';Sj mg@%%‘ 9 )L" o )’T
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